BC-01

June — Examination 2024

B.Com. (Part I) Examination
FINANCIAL ACCOUNTING
(fa<ita er@Eia)

Paper : BC-01

Time : 3 Hours | [ Maximum Marks : 70

Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.
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Section-A 7x2=14
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 2 marks.
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1. (1) What is meant by accrual basis of
accounting ?
AT & IASH TR F F1 s & 2
(i1)) What is a contingent liability ?
sTehfas o 1 § 2
(ii1) What are outstanding expenses and when are
they recorded ?
T A F B Al 3% HA T (ohA S © 7
(iv) What do you understand by ‘Adjustment
Entries’ ?
TS yfaftedt & g = wHe 2
(v) What do you mean by ‘Del credere
commission’ ?
IREy FHEA (A HS FHHIE) H IR F
ARE T ?
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(vi) What are the causes of depreciation ?
TH H M BRI T 2

(vi1) Differentiate between ‘Self Balancing and

sectional balancing system’ of accounting.

TRETHA i TR TS YU qon i e
JoeRt’ H SRR T it |
Section-B 4x7=28
(Short Answer Type Questions)
Note -— Answer any four questions. Each answer should not
exceed 200 words. Each question carries 7 marks.
gus—d
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2. Explain the following :
(@) Going concern concept.
(b) Cost concept
(¢c) Entity concept

~

frafafed =1 T wifsw

(37) =0e] HAIE™ SFAAUROM
(9) W STaEmon
(9) i srarymon
3. Differentiate the following :
(@) Gross profit and net profit.
(b) Tangible assets and intangible assets.
frafafed § o< s@sy
(1) 9&d oY a1 PS5 Y
(F) ¥ weafoat qen o et
4. What are kinds of errors ? How are these rectified ?

sIfgat fohan YR &t Bt § 7 39 gUR fRE TR
fem S ® 2

5. What do you understand by ‘Reserve’ 7 Explain

its main characteristics.

G99 ¥ Y F1 qHd § 7 9! HoA faRIoa saeu |
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6. Write following transactions in the purchase book 8. What do you understand by joint venture ? How

and post them in the ledger : does it differ from consignment ?

2022 3 TR WEH W W & wEe § 2 T YO ¥ fRw
. R fia ¥ 2

April 1 Purchased goods from Ram 1,500

' _ 9. What entries are made in the books of buyer and
April 10 Purchased goods from Kishan 2,600 ‘
seller when goods are sold on instalment payment

April 23 Bought goods from Chandra 800

system ?
April 30 Bought goods from Kishan 1,100 v fRYd AN TS W W S S ¥ 9 ®ar qen
frafafed el &1 %9 =@ d fafew qor o) § forghal T q&IH B oM gfAfest &1 S § 2
IHHT TN FHIGY Section-C 2x14=28
2022 3 (Long Answer Type Questions)
3 1 T 9 "I TR 1,500 Note .— Answer any two questions. You have to delimit
a1 10 frem ¥ T = 2600 your each answer maximum up to 500 words.
Each question carries 14 marks.
A 23 = W T Bl 800
gus—H
s 30 forem | #@ wda 1,100
(& T wee)

7. Prepare a Branch Adjustment account with the

feor - =81 Q1 w9l & SR SIST | &9 319 SR 1 ATeeRas

500 v H UREifaa wifsT ) 9@ U9 14 % @
FHICUH STl ] el § el FHENSH STl ST | ¥

help of imaginary figures.
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10. What is trading account ? How does it differ from

11.

profit and loss account ? Give an imaginary pro
forma of trading account.

= @ fF 8 #ed § 2 9% @ B ' | R
TR 99 § ? UF wieuHe SAMie @ S ey

TR |

On first July 2019, X purchased a machine for
% 19,000 and spent ¥ 1,000 on its installation, on
30 June 2022 the machinery was disposed of for a
sum of ¥ 13,600. Assuming the books are closed
on 31st December each year and the rate of
depreciation is 10% per annum on diminishing

balance. Prepare machinery account for this period.

T S 2019 =1 T 3 T |9 3 19,000 H BRiaT
qel 9! T W ¥ 1,000 =3 fRw1 30 5H, 2022
1 AT T 13,600 § 99 < M| TE HAG gU g
F W 10% faad wAFE 7 fafs w® § qon g
yfgers 31 f@mR & 9 & S 71 3H @y T
TR @ Sy |
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12. Write short notes on the following :
(@) Three column cash book
(b) Deferred revenue expenses
(¢) Accounting cycle
frefafen = wfvw femforel fafe .
(37) @9 @™ ® Awg T
(9) TfiTq AT =4
(|) @ =%
13. What is a trial balance ? How is it prepared ?

TOIe M € 2 TH hY o S T 2
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